Was ist die richtige Losung? (plus Zahlen bis 10)

Plusrechnen

4 F2+F= s F1+1= & F0+6=
o 66+2= & 61+10= o F0O+1=
w0 82+2= 1 0+6= 2 1+9=
3.62+6= 4 61+0= 5.33+0=
16 69+6= 17 81+2= 1854 +10=
9. 56 +5= 0 65+5= 2. 33+0=
2. 26+10= 3 56 +4= 4. 19+5=
5. 28+0= 26.23+10= 7. 40+ 4=
8 66+ 4= 9 84 +3= 0 81 +5=
. 31+1= 22.86+1= 3. 55+8=
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Was ist die richtige Losung? (plus Zahlen bis 10) | ANTWORTEN

Plusrechnen

i F2+7= 19 s M+1= 12, F0+6= 16
. 66+2= 68 5 61+10= 71 o 0+1= 71
0 82+2= 8 4 0+6= 6 o 1+9= 10
3 62+6= 68 . 61+0= 61 5 33+0= 33
6 69+6= 75 ; 81+2= 83 54+10= 64
0. 56+5= 61, 65+5= 70 , 33+0= 33
2. 26+10= 36 5 B6+4= 60 . 19+5= 24
5 28+0= 28 5 23+10= 33 40+ 4= 44
6 66+4= T0 5 84+3= 8/ 5 51+5= 56
50 31+1= 32 5 8+1= 87 5 B55+8= 63
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